Name Period Date Unit 3 part B Practice Test

1} Describe the end behavior for each function below.

aly=x2-6x+11 b —x2+4x-6
x> =, fx) > A x>, f(x) > _~ P
x> -, f{x) > 0O X > -=, f{x) > -0
. . x:""..,_kz- = e, =4
2) What s the vertex form of the quadratic y = 3x? — éx + 1¢ Ve 205D

a)y =3(x—1)2-2

y=%(X-])2_2 Sy =(x+2)2-1 A y=3x+1)2-2 |

AMOMES  rlwns gl OEP-

3) Which of the following is NOT true of f(x} = -2(x—4)2 + 30¢
a) It has an axis of symmetry of x = 4. +
b) It has a maximum of 30.
ft has a y-intercept of (0, 30).
d) The end behavioris that y — —eo regardless of whether x — —oo or x — oo, v

5} Which of the following is NOT true of the function graphed below:

¥

4 \ The interval of incregse is (1, ).
-k A el 10 Bl @ R AR

o W

b) a=1

c) The functionisy = X2 — 6x + 10.

e s d} It has a minimum value of 1.

6) Determine the domain and range of the function in question #5.

a} Domain: All Real Numbers, Range: All Real Numbers
b} Domain: (-=, =}, Range: [3, «)

@Domoin: All Real Numbers, Range:y 2 1

d) Domain: {-, =}, Range: {-=, 1]

7} Find the equation of the parabola on the right. .
SHy=x2+4 ST
b)y=-x?-4 J

y)(y=x2—4

@‘lé-e-(j.acﬂt:\% and op 4% ; f/' | \




8) Write the equation of the quadratic equation in the graph.

(x+D%+2 x;m | T

P R S R

\Lyrex C -1, ?~)
?) Write the quadratic equation whose vertex is at {-4, -6) and is reflected over the x- axis.

- (Xt -

]L a.Vertex: (2,4
: NG T b. Axis of Symmetry: _¥ = %
c. domain: (=00, @) range: {09, H)
d. inferval of increase (-vw ; 23
e.inferval of decreases_( 2, &3
f. extrema: _AAASL
g. max/min value_« = 4
h. zeroes(o,c €M ,&)
f. find r%;’re of chcmge 0<x<3__\
(wa

SNV, .3..\
g. s Xx—wo, y—_ =3

AS X—>-o0, Y—r_= OO

10)

11) For the function f(x) = {x + 3)2 - 9, what is the value of x where the function changes from

decreasing to increasing? ¥ ==3

12) If the graph of y = X2 is vertically stretched by a factor of 2, reflected over the x axis,
franslated right 7 and down ¢, what would be the equation of this transformed graph?

/g(f(x < b= 712=9 @) =-2(x-7)2-9 c) fix) = -2(x +1Z)2- 9
Gtix) = 2x+7)2-9 &) none of these g

Noe re-fle ceed

13) What is the axis of symmetry of y = 2(x - 3)2-18
a) x=-3 @x=3 c) x=-6 d) x=46



2.allihgt are true: Thejaxis of s Mmeln ALWAYS-ceonte se points:{
X/mir Jy-intercept, x-intercepts{ the midpoint of x-intercepfs

15) Describe the transformations performed on the parent function y = x2 to the function
y=-(x-4)2+3

e Ae P \yfwﬁ” k);ﬁ

16) Describe the extrema and ifs value for the quadratic equation: y=-x2-8x + 5

Xe-lo o B
Lfminimum aty =5 o @mdximum aty =21 S gw)
! ”tﬁw Laaa
gminimum at y = 21 ?}{?;mﬁ\m% d) maximum aty =5 X% %

G PRS- LML

17) Given standard form, convert to vertex form AND given vertex form, convert to standard
form.

L f(x) = (x + 2)2 1 . f(x)=—4{x +7) - 5
CEINVEEES Lm0
) R ®F A ATy 404G
X Ty o 1% | ~Y(n ® ey +Hq)
A F ot e b g | ~URE QU 4y -G
g _
W& iy »e%} -4y o Sleye 1 |
. I. f(x) x — X +5 V. f{x}=3x* - 3éx+ 101
sl (g~ . X=.b o
;.e.. L 2" L'a ol ’3(.3& ) = ~7 )
® 3oy ::‘%
K= 3 (B)2-(3) S “éta) 3> - e (o) +104
18) A rectangular painting has an area of (2x2 + 8x + 6) cm2, Its length is (2x + 2) cm. Find the
width. % N |
& ¥ TR+ = L2 +a v + B )y }
I ssssszr o™
b A 22U TPy
LH BT Y

12) A square parking lot has an area of (4x2 + 20x + 25) ft2. What is the length of one side of
the parking lote

Uy Tt 20w 4 08
(2w 4$ X 2445)



20) A ballis hit into the air from a height of 4 feet. The function h{t} =-1612 + 120t + 4 can be
used to model the height of the ball where f is the fime in seconds affer the ball is hit.

a. about how long is the ballin the air? (in other words, how long before the ball hits the

-grobund N oe. o el LDk i.{- 2ot el f%”f“ 2 -p, 633

b * ko ~

\ '2-_' Wr. [E " e

(1207 HC 1t ) e S =75 see |
b. What is the maximum height the ball reachese e -

Twlo o (20 T

—— =10 3T " e( 2Tt 2l

"2ine 'z.t:-u«) T30S ( )" 2Wiwﬁm

21) A mileage formula (miles per gallon) for a new caris f{x) = -0.03x2 + 2.4x — 30, where x s
speed in miles per hour.

a. At what speed x is the maximum miles per hour for this car? ®F = -2 LT HO MPY
2% olm0. D)

b. What is the maximum miles per galion at this speed?
—0 OB UOD* L HHUOD ~ B = IR P
c. What is the axis of symmetry of the graph of this function? y =i o

d. What is the y-intercept of this function?2 (hint: where x = 0}
~-20
22) Elizabeth reads about a rocket whose path can be modeled by the function
h{t) =-16t2+ 180t + 15.
a. Whatis the initial velocity and launch height?  Velocity = f QD height= =3

b. How high is the rocket after 5 seconds?

—U(SITHIGp (S S = \S'Q“"ﬁ”g

23) Approximately how long after launch does the rocket initially reach 200 feete
What is the inequality shown in the graph below?

Q4 ~v ¥
/er)/y>x2—6x+ b) vy <-x2+4x~6
N@ed Sefieetinn
y = -x2—4x-2 y>—x2+4x—6

reed Ubvpad

O2-yp VvV




Algebra 2 Name ID: 1

Question #23 on Study Guide Date Period
Solve each quadratic inequality. Write final answer in interval notation.
1) y<x*-8x+15 2) y<x*+6x+5
y L {y- & AX-3) 02 (X4SA 1)
0& &) Wrs| ( o,3]

g Cs,0)

3) y>xl—8x+12
O Z(X~bYyx-2)
O ( ¥-v) W <




